ITLADI—J2AT-—DS5T8BBE

S8HRDBRE

V&ILED

KETHEBEA X —

D LT

LW@%ED

W
)

B |8 || @ZE | £E81%M AN BE
8| 1|L |800~11:00|ITADT—T|5v=vd. I=F1R—Y3av, @YU, 55— Jvyya, %
2|18
3|8
4N [1800~2000 | TAD T =T |5YZVJ, D=F1R=yY3 v, @ 35— FJyyva %
5K ~ = o
ESX.EémE REMSILFHEEEVY
HE:
8|L |800~11:00|ITADT—T|5v=vF. I-FT1x—Y3V. @R, 55— Fvya, %
9|8
10|18
11N
12K “.
13|
14|&
15|x
16|8
17|18
18N [1800~2000 | TADT—T|5V=yP, D=F+R—Y3ay, @%U. S5—, Fyya, %
192K
20K [1800~2000|TAD T =T |5V=vP. D=F+R—vay, @Y%V, S9—. Fyya, %
21|&
22|t [800~11:00|TADT—T|5Y=yF. DI—F1R—y3 Y, @HU. 59— Jvya %
238
24|18
25w [1800~2000 | TAD T =T |5V=vP. D=F+R—vay, @%U. S9—. Fyya, %
26|2K
27K [1800~2000|TAD T =T |5V=vP. D=F+R—Yav, @RV, S9—. Fyya, %
28|&
29|1 |800~1100|TADT—T|5v=vd. I—FT+R—vY3av., @Y%, 55—, vy, %
=
A

31

O—S—XRT—FDEEF. ANLXY b FE OUNY b OSSNy FREDEGRBIIDOT AfELEZE UTRSU,

WBIE. ALy T
8l3. TADT-—JTERLELET,

I E=VAVAN
- TEBINDE

EEZEBTIOELDICLFLLD,




